Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

| First and last name :

Test 1 : Elementary functions, G2
1. Calculate : arccos (cos =5T).  (1point).

2. Show that Vx € [~1,1],arccosx 4 arcsinz = 5.  (5points).
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| First and last name :

Test 1 : Elementary functions, G3 and G6

1. Calculate: arcsin (sinZF).  (1point).
1 fiy

2. Show that, for z € R*, arctanz + arctan () = { 2. . (5points).
x —3



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

| First and last name :

Test 1 : Elementary functions, G1

1. Calculate: arcsin (sin%). (lpoint).

2. Show that Ya > 1, argch(a) = In(a+ Va2 —1).  (5points).



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

| First and last name :

Test 1 : Elementary functions, G4 and G5

1. Calculate : arccos (cos 3F).  (Ipoint).

2. Show that Va € R, arg sh(a) =In(a+ Va2 +1). (5points).



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 1 correction : Elementary functions, G2

1. Calculate : arccos (cos _Tﬁ’r) .
—6mr _ —3m —6m __ —3r __ ™ : : .
= = —5% so cos =% = cos =5 = cos 5, which gives :

—6m ( 7T> 0 (1point)
arccos | cos — | = s(cos =) = =. :
s { cos — arccos { cos o 5 poin
2. Show that Va € [~1,1],arccosz + arcsinz = 7.
e 15t way: Put: Vze€[-1,1],f(z) = arccosz + arcsinz.  (1point).

f is countinuous over [—1, 1] and derivable over |—1, 1[ as follows :

Lo -1 1
fle) = V1 — 22 - V1 — 22
So f is constant on |—1,1[. i.e..Vx € |-1,1[, f(z) = f(0). (1point).

=0 (1lpoint).

f(0) = arccos(0) + arcsin(0)
T T .
= 3 +0= 5 (0.5point).

Forx=1":

f(1) = arccos(1l) + arcsin(1)

T T .
= 0+ 5= 5 (0.5point).

For x = —1:

-
—
|
—_
Nl

|

= arccos(—1) + arcsin(—1)
= 7— % = g (0.5point).
Finally:

(Vo e [-1,1], f(x) =% | (0.5point).

e 274 way One has :

x € [-1,1] = arccosx € [0,7] (1point).
- e[-2.2]  (point)
5 — ATCCoST 55 point).

Now, we may apply sin:

sin (g — arccos x) = cos(arccosx) (1point).

Because we have the trigonometric relationship:
7r
Va € R, sin (5 — oz) = cosa
So :

. 7T .
sin (5 — arccos x) = z (lpoint).
7r :

= g Tarccosz = arcsin

=z el-1,1], g = arccos + arcsinz | (lpoint).




Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 1 correction: Elementary functions, G3 and G6
1. Calculate: arcsin (sm %’T)

¢ [-Z,Z], we need to simplify it :

T
:2 —
3 3 T3
So,
51n7—7T sinz
3 3

Which means that :
arcsin | sin ™ arcsin (sin ﬁ) _ (1point)
5 )= 3) =3 (lpoint).

s
2. Show that, for x € R*, arctanx + arctan < ) { .

l\J

e 15t way : Put: Vz € R*, f(z) = arctanz + arctan (1)  (1point).

f is continuous and derivable over R* as follows :

’ 1 -2
@) = 175 1+(l)
1 1

= — = 1point).
T2 1122 0 (Lpoint)

As there is a discontinuity at point 0, f est constant (0.5point) over | — oo, 0[U]0, +o0[ in the following way :

flz)= { Z; %f z>0 (1point).

ifz <0
Forx=1":
ko = f(1)
= arctanl + arctan1
_ .7
404
™ .
= k= 3 (0.5point).
For x = —1:
ka = f(-1)
= arctan(—1) + arctan(—1)
_ T
4 4
™ .
= ko= —5 (0.5point).
Finally :

arctan x + arctan (=) = { 2, if @>0 (0.5point).
2




e 2™ way : Put: Vo € R*, arctanz = y , so,

Yields:

y€lo, 5[ ifz>0 .
{ yel—zo0 ifx<o (pomi)
First case if z > 0, y €]0, Z[ then (Z —y) €0, Z[.

Let us recall the known trigonometric relationship:

1
Va # kr | (k€ Z), tan(g —a) = —

1
= tan (g — y) = tany (because y €]0, g[ )

1
= arctan (tan (z — y)) = arctan < )
2 tany
= (5 -y) =ant !
- — = arctan
2 Y tany

1
= Vr >0, — —arctanx = arctan | ————
2 tan(arctan(zx))

3

1
= Vo>0, g = arctan () +arctanz. (1, 5points).
x

Second case if x < 0, then (—z) > 0 and since arctan is odd  (0.5point). we will have (from the first case):

1
Ve < 0, g = arctan ((—:c)) + arctan(—zx)
™ 1 )
= 5= arctan <> —arctanz  (1point).
x
Yields:

1
Ve <0, — g = arctan () + arctan x
x

Finally,

1 s i
arctan x + arctan (> = { 3 ST >0
x




Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 1 Correction: Elementary functions, G1

1. Calculate: arcsin (sin %) .

Since T € [-%,%] then arcsin(sinf)=2%. (lpoint).

2. Show that Va > 1, argch(a) = In(a+ Va2 — 1).
e 15 method: Put argch(a) =y with y > 0.

e +eY
2
Put e¥ = z > 1 ( because y > 0), we then find: e™¥ =1 (> 0). So,

1. If argch(a) =y, then o = chy = a = =eV+e ¥ —2a=0..(x). (lpoint).

—2a=0

IS

(x) & z+
& 22—-2az+1=0
& zo=axVa?-1 (lpoint).
e — We have to show that, 21 = a — Va2 — 1 < 1, Suppose that :

a—1—+va2—-1 < 0

= a—-1<vVa?z2-1

Since a > 1 then « — 1 > 0, so we can apply the square. We find:

(a—1)? < o®*—1
—2(a—1) < 0 which is true Yo > 1. (1point).

z1 is hence refused.
e — We then show that, z0 = a+va2 —1>1,

Suppose the opposite, i.e. that:

a—1++vVa?-1 < 0
= a-l<—-va?-1

Which is impossible, given that « —1 > 0. Hence, Voo > 1,a++va?2 —1>1 (1point).

zo is therefore accepted.

Consequently, the only solution is : 20 = a + Va2 —1> 1.

This gives : eV =a+Va?—1=y=In(a+ Va2 —1). Hence, Vo > 1, argch(a) =In (a +Va? —1). (1lpoint).
e 274 method: Put a = chy with y > 0,a > 1 (1point).

We know that chy + shy = e¥ | so, y = In(chy + shy).  (1point).

But since, ch?y — sh®y = 1, we get : shy = ++/ch?y — 1.  (1point).

sh being increasing, y > 0 = shy > 0, which means that shy = \/ch?y — 1.  (1point).

We then obtain y = In(chy + /ch?y — 1).
And since y = argch(a), we get Va > 1, argch(a) =In (a+ Va2 —1). (lpoint).



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 1 Correction: Elementary functions, G4 et G5

1. Calculate : arccos (cos %’T) .

Since £ € [0, 7] then arccos (cos &) = 25, (1point).
2. Show that Va € R, arg sh(a) =In(a+ va? +1).
e 15" method:

We put arg sh(a) =y . So

2
= eV —e¥ —2a=0..(x). (lpoint).

a = shy=a=

1
Putey:z(>0),toget:e’y:;(>0).So,

1
& z—-—-2a=0
(%) Z2= -~ 2

s 22—202-1=0

& zao=axVa?+1l (lpoint).

z1=a—+vVaZ+1<0..(1)

t to show that R
We want to show that, Vo € ’{z2:a+m>0...(2) ,

We know that :

Va € R, a®<(a®+1)
= lal<Va?+1
= —valt+l<a<vai+l..(x)

-) (%) =VaeR, a—+vVa?2+1<0. z is then refused.  (1point).

-) (x) = VaeR, a++vVa?+1>0. z is then accepted.  (1point).

The solution then is : 20 = o ++va?2 +1 > 0.

Which gives that : ¢/ =a+ Va2 +1=y=I(a+Va®>+1). (lpoint).
Hence, Va € R, arg sh(a) =1n (a ++Va? + 1) )

o 27 way

Put Va € Ryarg sh(a) =y = a = shy, y € R.  (1point).

We know that Vy € R, chy + shy = e¥ . (Notice that this means that chy + shy > 0).
So, y = In(chy + shy).  (1point).

But since chy = y/sh?y +1, (lpoint). we get : y = In(shy + \/sh?y +1). (1point).
ie. Va € R, argsh(a) =In(a+ Va2 +1). (lpoint).



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

| First and last name :

Test 2 : Derivability and LE, G2

1. Consider the function :

O f is odd.

O f is continuous over [0, 1].

O f is continuous at the right of
O f is derivable over [0,1] .

O f is derivable at the right of 1.

(0.25 pt/right answer).

f: [0,1[— [1,+oo]

) = ——
e f(z) = —
V1—a?
O f is even. OO f is continuous over R.
O f is continuous over |0,1]. O f is continuous at 1.
1. O f is continuous at the right of 0.
O f is derivable over [0,1] . O f is derivable at 1.

O f is derivable at the right of 0. O f admits a continuous expansion at 1.

2. Find the LE3(0) of the function f(z) =1n <sz> , then deduce A = lir% In (smx) . (6 — (0.25pt/right answer in
x z— x

question 1 ))!



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

| First and last name :

Test 2 : Derivability and LE, G3 and G6

1. Consider the function : (0.25 pt/right answer).

f: [0,1]— [e, +o0] .

i f(r) = ——
fo) = <
O f is odd. O f is even. O f is continuous over R.
O f is continuous over [0, 1]. O f is continuous over 0, 1]. O f is continuous at 1.
O f is continuous at the right of 1. O f is continuous at the right of 0.
O f is derivable over [0,1] . O f is derivable over [0,1] . O f is derivable at 1.

O f is derivable at the right of 1. [ f is derivable at the right of 0. [ f admits a continuous expansion at 1.

2. Find the LE3(0) of the function f(z) =In (Sh a:) , then deduce A = lim In (Sh x) . (6 —(0.25pt/right answer in
x x

z—0

question 1 ))!



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,
| First and last name : |

Test 2 : Derivability and LE, Gl

1. Consider the function : (1 pt/right answer).

f: [0,1]— [7,4o0]

z— f(1) = ——
fo) = <
O f is odd. O f is even. O f is continuous over R.
O f is continuous over [0, 1]. O f is continuous over 0, 1]. O f is continuous at 1.
O f is continuous at the right of 1. O f is continuous at the right of 0.
O f is derivable over [0,1] . O f is derivable over [0,1] . O f is derivable at 1.

O f is derivable at the right of 1. [ f is derivable at the right of 0. [ f admits a continuous expansion at 1.

2. Find the LE3(0) of the function f(z) =1In (thx) , then deduce A = hn%) In (thx) . (6 —(0.25pt/right answer in
x z— x

question 1 ))!



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).
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| First and last name :

Test 2

1. Consider the function :

O f is odd.

O f is continuous over [0, 1].

[0 f is continuous at the right of
O f is derivable over [0,1] .

O f is derivable at the right of 1.

t
2. Find the LE3(0) of the function f(z) =In ( anm) , then deduce A = lir% In <
x T—

question 1 ))!

: Derivability and LE, G4 and G5

(1 pt/right answer).

foo[0,1[= [V2,+o0]
V2

i fz) = ——

f@)= 77—

O f is even. O f is continuous over R.
O f is continuous over |0,1]. O f is continuous at 1.
1. [0 f is continuous at the right of 0.

O f is derivable over [0,1] . O f is derivable at 1.

0 f is derivable at the right of 0. [ f admits a continuous expansion at 1.

tanx

) . (6 —(0.25pt/right answer in



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 2 correction : Derivability and LE, G2

1. Consider the function :(0.25 point/right answer=1.25 points).

f: [0,1[—> [1,+OO[ .
T f@ ==

O f is odd. O f is even. O f is continuous over R.

B f is continuous over [0, 1]. B f is continuous over |0, 1]. O f is continuous at 1.

O f is continuous at the right of 1. B / is continuous at the right of 0.

O f is derivable at 1. B f is derivable over [0,1] . O f is derivable over [0, 1].

O f is derivable at the right of 1. B f is derivable at the right of 0. [ f admits a continuous expansion
at 1.

sinx

2. Find the LE3(0) of the function f(z) =1n ( .

) , then deduce A = lin}) In (sn;x) . (4.75 points).

e Since we will devide by x, we shall consider the LE(0) of sinx at the order 4 :
23

sine =z — o +o(z*) (1 point)

So,

E 1o % +o(z%). (0.25 point).

From the other hand, one has the LE3(0) of the function In(1 + ¢) given by :
2 3 3 .
ln(l—i-t):t—?—f—g—i-o(t ). (1 point).

Put t = =22, so lim¢t = 0. (0.25 point+0.25 point). Then:

6 x—0
z 2 oz 3 N
(%) - (5)- B S

e This means that A = lirrb In (sm:r) = lim {—x—; + o(xg)] =0. (1 point).
T— X



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 2 correction: Derivability and LE, G3 and G6

1. Consider the function :(0.25 point/right answer=1.25 points).

I [07 1[_) [ev +OO[

Tl =

O f is odd. O f is even. O f is continuous over R.

B f is continuous over [0, 1]. B f is continuous over |0, 1. O f is continuous at 1.

O f is continuous at the right of 1. B / is continuous at the right of 0.

O f is derivable at 1. B f is derivable over [0,1] . O f is derivable over [0, 1].

O f is derivable at the right of 1. B f is derivable at the right of 0. [ f admits a continuous expansion
at 1.

sh x

sh a:) , then deduce A = hn%) In (
r— €T

2. Find the LE3(0) of the function f(z) =1n ( .

) . (4.75 points).

e Since we will devide by z, we shall consider the LE(0) of sh x at the order 4 :

3
shr=x+ % +o(z?) (1 point)

So,
h 2
sxzc =1+ % +o(z*).  (0.25 point).

From the other hand, one has the LE3(0) of the function In(1 + ¢) given by :

U
In(1+¢t)=t— 5 + 3 +o(t*). (1 point).
2

Put t = %, so limt = 0. (0.25 point4-0.25 point). Then:

() - ()G

h
e This means that A = lirr%) In <H) = lir% {“—62 + 0(m3)] =0. (1 point).
T— x



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 2 Correction: Derivability and LE, G1

1. Consider the function :(0.25 point/right answer=1.25 points).

I [Ovl[ﬁ [7T,+OO[

e

O f is odd. O f is even. O f is continuous over R.

B f is continuous over [0, 1]. B f is continuous over |0, 1. O f is continuous at 1.

O f is continuous at the right of 1. B / is continuous at the right of 0.

O f is derivable at 1. B f is derivable over [0,1] . O f is derivable over [0, 1].

O f is derivable at the right of 1. B f is derivable at the right of 0. [ f admits a continuous expansion
at 1.

th th
2. Find the LE3(0) of the function f(z) =1n (mx) , then deduce A = lin%) In (;) . (4.75 points).

e Since we will devide by z, we shall consider the LE(0) of th x at the order 4 :

3

thx=x— % +o(z?) (1 point)

So,
tth =1- ‘%2 +o(z*).  (0.25 point).
From the other hand, one has the LE3(0) of the function In(1 + ¢) given by :
2 43

t
In(1+¢t)=t— 5 + 3 +o(t*). (1 point).

Put t = _Tg”?, so lim¢ = 0. (0.25 point+0.25 point). Then:

(%) = () S (D)

th ,
e This means that A = lirr%) In <x> = lim {%*2 + 0(:53)] =0. (1 point).
T— T



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 2 Correction: Derivability and LE, G4 et G5

1. Consider the function :(0.25 point/right answer=1.25 points).

foo (01— [V2, +oo]
z— fz) = V2

1— 22

O f is odd. O f is even. O f is continuous over R.

B f is continuous over [0, 1]. B f is continuous over |0, 1]. O f is continuous at 1.

O f is continuous at the right of 1. B / is continuous at the right of 0.

O f is derivable at 1. B f is derivable over [0,1] . O f is derivable over [0, 1].

O f is derivable at the right of 1. B f is derivable at the right of 0. [ f admits a continuous expansion
at 1.

tan x

t
2. Find the LE3(0) of the function f(z) =1n ( ) , then deduce A = lin%J In ( an x> . (4.75 points).

T

e Since we will devide by z, we shall consider the LE(0) of tanz at the order 4 :

3

tanz = x + % +o(z*) (1 point)

So,
2

t
a;lm =1+ % +o(z%).  (0.25 point).

From the other hand, one has the LE3(0) of the function In(1 + ¢) given by :

2 3
In(l1+t)=t- FT3t o(t?). (1 point).
2

Put t = %, so xlii%t = 0. (0.25 point+0.25 point). Then:

() - ()G )

t
e This means that A = lim In ( anx) = lim [%2 + 0(363)} =0. (1 point).
z

z—0 z—0



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI, 15min.

Test 3 : Integration, G2

1 arctanx .
1. Integrate [ = [, T dr. (1 point).
1 arctan .
2. Integrate J = [ e dz. (2 points).
T arcsin x
3. Integrate by parts K = | —— dx. (3 points).
g y P f m ( p )
Test 3 : Integration, G1
. \3
arcsin x)

1. Integrate I = fi ( dr. (1 point).
2

i
2. Inte rateJ—j’lM
ST e

3. Integrate by parts K = [zarctanz dz. (3 points).

dz. (2 points).

Test 3 : Integration, G3 and G6

3
1 (arctanz) )
1. Integrate I = [, P dz. (1 point).
| (arctan z)®
2. Integrate J = [ e dx. (2 points).

3. Integrate by parts K = [z(1 + tan?z) dz. (3 points).

Test 3 : Integration, G4 and G5

1. Integrate I = f_ll Rkt (1 point).

V1—2a2

arcsin x
2. Integrate J = fl

O V/1—22

3. Integrate by parts K = [(2"™' +1)Inz dz. (n €N). (3 points).

dz. (2 points).



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI, 15min.

Test 3 correction : integration, G2

t
1. Integrate I = _11 arcan® dx.
1+ 22
. arctanzx . . L . . .
Since © — T is an odd function over [—1, 1], which is symmetrical with respect to 0, then I = 0. (1 point).
1 arctanx
2. Integrate J = [ Ty dx.
1
J— fol arctanz , (arctan z)? _ (arctan1)? B (arctan 0)* _ (gQ)2 _ g% (2 points).
1422 2 o 2 2
T arcsin x

3. Integrate K = [ ———= dz.
V1 — 2

T

= e
One takes V1—a? (1 point),

v(x) = arcsinx

The integration by parts formula gives us :

K = /u'v = [uv] —/v'u (0.5 point)
= farcsinxmf/(fl) dz

K = —arcsinzy1—22+4+2+C,(C €R). (0.5 point)



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 3 correction: Integration, G1

N3
1 (arcsinz)
1. Integrate I = [?, ——— dx.
° I3 ==
) (arcsinz)® . 11 Lo . . ,
Since © — ———== is an odd function over [—, 7] , which is symmetrical with respect to 0, then I = 0. (1 point).
/1 — .TQ 272
9 Tnteerate J fl (arcsin z)* p
. Integrate J = [ ———= dx.
s 0 V1—a2
1
J— fol (arcsin:tg3 _ [(arcsﬁilnxf] _ (arcséiln 1 B (zamcséian)2 _ (g4)4 _ g*: (2 points).
Vi—-z 0
3. Integrate [z arctanz du.
By parts:
U () == .
One takes { v(z) = arctan z (1 point),
x
u(z) = —
to get / 2 1 . (1 point)
viz) = 1+ 22
The integration by parts formula gives us :
K = /u’v = [uv] —/v’u (0.5 point)
x? . / 2?2 1 p
= —ar nr — -
5 arctanz T ire @
z? . 1 /x2 +1-1
= —arctanz — - [ ———— dx
2 2 1+ a2
2 1 1
= T arctanz — - 1—-—|dz
2 2 1+ 22
x? 1 .
K = 5 arctan x — §(x —arctanz) + C, (C € R). (0.5 point)



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 3 Correction: Integration, G3 and G6

1 (arctanz)®
1. Integrate I = [ T
x

(arctan z)*

gj
mce r — 1+ 22

is an odd function over [—1, 1], which is symmetrical with respect to 0, then I = 0. (1 point).

arctan z)”

2. Integrate J = [ ( e dz.
T

1
1 arctan (arctan z)* (arctan1)*  (arctan0)’ ()" = ,
J =, Tia7 r = T O: 1 — 1 =4 :4—5.(2pomts).
3. Integrate [ z(1+ tan?z) da.
By parts:
u'(x) =1+ tan?z .
One takes { (@) =z (1 point),
u(z) = tanz .
to get { V(z) =1 (1 point)
The integration by parts formula gives us :
K = /u’v = [uv] — /U’u (0.5 point)
= ztanx—/tanzd:c
= xtanm—/smxdx
cos &
K = ztanz+In|cosz|+ C,(C € R). (0.5 point)



Abou Bekr Belkaid University of Tlemcen. 1st grade LMD (2023/2024).

Faculty of Sciences, Mathematics departement M-MI,

Test 3 Correction: Integration, G4 et G5

arcsin
1— a2
. arcsinx . . L. . . .
Since © - ——— is an odd function over [—1, 1], which is symmetrical with respect to 0, then I = 0. (1 point).
V1—z?

1. Integrate I = fil

1 arcsinx
2. Integrate J = |, —— dx.
¢ b =
. .27t .2 .2 9
_ 1 arcsinz | (arcsinx) _ (arcsin1) (arcsin0)”  (z)* _
3. Integrate [(z"*'+1)Inz dz. (n€N). (3 points).
By parts:
u'(z) = (a" T+ 1) .
One takes { (@) = Inz (1 point),
u(z) = [(z" + 1)dz = (% + x)
to get . (1 point)

v'(x) :é

The integration by parts formula gives us :

K /uv = [uv] — /v’u (0.5 point)
$n+2 zn+2 1
= + lnx—/ + x| — dx
n+2 n+2 T
n+2 n+1
= :13 +x lnx—/ z +1|dx
n+2 n+2
xn+2 mn+2
K = < —|—x> Inz - ( ———= +z | +C,(C €R). (0.5 point)
n+2 (n+2)
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